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Level 3

Developing

|. apply multiple meanings of words/phrases to social and academic contexts
2. identify topic sentences or main ideas and details in paragraphs

3. answer questions about explicit information in texts

4. differentiate between fact and opinion in text

5. order paragraphs or sequence information within paragraphs
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Percentage

e [0%
e High (22-30)
® [ntermediate (15-21)

® Low (0-14)
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Screen Reading

® Generally, people read 25% slower on a computer screen in
comparison with a printed page.

® Shallower, less focused way



http://www.lexile.com/toefl/
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The Origins of Cetaceans

It should be obvious that cetaceans—whales, porpoises, and dolphins—are
mammals. They breathe through lungs, not through gills, and give birth to live
young. Their streamlined bodies, the absence of hind legs, and the presence of
a fluke and blowhole cannot disguise their affinities with land dwelling
mammals. However, unlike the cases of sea otters and pinnipeds (seals, sea
lions, and walruses, whose limbs are functional both on land and at sea), it is
not easy to envision what the first whales looked like. Extinct but already
fully marine cetaceans are known from the fossil record. How was the gap
between a walking mammal and a swimming whale bridged?! Missing until
recently were fossils clearly intermediate, or transitional, between land

mammals and cetaceans.
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Basic Information and Inferencing questions (I | to |3 questions per set)

® Factual Information questions (3 to 6 questions per set)

® Negative Factual Information questions (0 to 2 questions per set)
® |Inference questions (0 to 2 questions per set)

® Rhetorical Purpose questions (0 to 2 questions per set)

® Vocabulary questions (3 to 5 questions per set)

® Reference questions (0 to 2 questions per set)

® Sentence Simplification questions (0 to | questions per set)

® Insert Text questions (0 to | questions per set)
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Reading to Learn questions (| per set)

® Reading to Learn questions (| per set)

® Prose Summary

e Fill in aTable

(Official Guide, p.20)
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Chapter Three
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Vocabulary Questions

® These questions ask you to identify the meanings of individual
words and phrases as they are used in the reading passage (a
word might have more than one meaning, but in the reading
passage, only one of those meanings is relevant.)

® Thereis no “list of words’”’ that must be tested.

(Official Guide, p.25)
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® The word X in the passage is closest in meaning to...

® |n stating X, the author means that...
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The second possible benefit of communal roots is that they act as
"information centers.” During the day, parties of birds will have spread
out to forage over a very large area. When they return in the evening
some will have fed well, but others may have found little to eat.

The word "forage” is closest in meaning to

(A) fly

(B) assemble

(C) feed

(D) rest
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Although researchers have taken samples of deep-ocean rocks and sediments for over a
century, the first detailed global investigation of the ocean bottom did not actually start
until 1968, with the beginning of the National Science Foundation's Deep Sea Drilling
Project (DSDP). Using techniques first developed for the offshore oil and gas industry. The
DSDP's drill ship, the Glomar Challenger, was able to maintain a steady position on the

ocean's surface and drill in very deep waters, extracting samples of sediments and rock
from the ocean floor.

The word "extracting” is closest in meaning to
(A) breaking

(B) locating

(C) removing

(D) analyzing
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Therefore, in the 1950's and 1960's, the baby boom hit an antiquated and inadequate
school system. Consequently, the "custodial rhetoric" of the 1930's and early 1940's no
longer made sense; that is, keeping youths aged sixteen and older out of the labor
market by keeping them in school could no longer be a high priority for an institution
unable to find space and staff to teach younger children aged five to sixteen.

The "custodial rhetoric” refers to

(A) raising a family

(B) keeping older individuals in school

(C) running an orderly household
(D) maintaining discipline in the classroom
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Reliance on television means that increasingly our political world
contains memorable pictures rather than memorable words.

The word "Reliance” is closest in meaning to

(A) Abundance

(B) Clarification

(C) Dependence
(D) Information
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The deserts, which already occupy (1) approximately a fourth of

the Earth’s surface, have in recent decades been increasing (2) at
an alarming pace.
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Amid rumors that there were(l) prehistoric mammoths wandering
around the unknown region and that somewhere in its wilds was(2) a

mountain of rock salt 80 by 45 miles in extent, the two captains set

out(3).

set out

were+was
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® A single sentence in the passage is highlighted.You are then asked

) &) R

® Which of the following best expresses the essential information in
the highlighted sentence! Incorrect answer choices change the
meaning in important ways or leave out essential information.

(Official Guide, p.28)
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|.The structure of the backbone shows, however, that
Amblocetus swam like modern whales by moving the rear portion
of its body up and down, even though a fluke was missing.
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A. Even though Ambulocetus swam by moving its body up and
down, it did not have a backbone.

17t 151

B. The backbone of Ambulocetus, which allowed it to swim,
provides evidence of its missing fluke.

C. Although Ambulocetus had no fluke, its backbone structure
shows that it swam like modern whales.

D. By moving the rear parts of their bodies up and down, modern
whales swim in a different way from the way Ambulocetus swam.
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2.For example, people who believe that aggression is necessary
and justified—as during wartime—are likely to act aggressively,
whereas people who believe that a particular war or act of
aggression is unjust, or who think that aggression is never justified,
are less likely to behave aggressively.
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A. People who believe that they are fighting a just war act aggressively
while those who believe that they are fighting an unjust war do not.

17t 151

B. People who believe that aggression is necessary and justified are
more likely to act aggressively than those who believe differently.

C. People who normally do not believe that aggression is necessary and
justified may act aggressively during wartime.

D. People who believe that aggression is necessary and justified do not
necessarily act aggressively during wartime.
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3. That the paintings did have meaning to the Paleolithic peoples who
made and observed them cannot, however, be doubted.



5 1R

A. It is true that the paintings were meaningful to the Paleolithic peoples.
B. Doubtless, the Paleolithic peoples were the ones who made the paintings.
C.There is no doubt about the meaning of the Paleolithic paintings.

D. Paintings that had meaning for the Paleolithic peoples are doubtful.
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3. Insert Text Questions
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If the physical barriers of the plant are breached, then preformed
chemicals may inhibit or kill the intruder; and plant tissues contain a
diverse array of toxic or potentially toxic substances, such as resins,
tannins, glycosides, and alkaloids, many of which are highly effective

deterrents to insects that feed on plants.
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In many of his books, he wrote about the poor and homeless
children of the slums of New York City, seeing them as
unfortunate pawns of society who, if only given the opportunity,
could improve their lot.



SRS L

o HENAXARRE

® Reference Questions

® |nsert Text Questions




5 1R

® |n the passage you will see four black squares. The squares are located
at the beginnings or ends of sentences. Sometimes all four squares
appear in one paragraph. Sometimes they are spread across the end of
one paragraph and the beginning of another.

PN

® ook at the four squares that indicate where the following sentence
could be added to the passage.

® VWhere would the sentence best fit?

® Your job is to click on one of the squares and insert the sentence in
the text.
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Moreover, they disagree as to whether this Beowulf is a copy of an
earlier manuscript.

= Although the Beowulf manuscript was written in about A.D. 1000, it was not

discovered until the seventeenth century. = Scholars do not know whether
Beowulf is the sole surviving epic from a flourishing Anglo-Saxon literary
period that produced other great epics or whether it was unique even in its
own time. ® Many scholars think that the epic was probably written sometime
between the late seventh century and the early ninth century. If they are
correct, the original manuscript was probably lost during the ninth-century
Viking invasions of Anglia, in which the Danes destroyed the Anglo-Saxon

monasteries and their great libraries. =
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Native Americans have been popping corn for at least 5,000 years,
using a variety of different methods.

= One method of popping corn involved skewering an ear of corn on a stick
and roasting it until the kernels popped off the ear. # Corn was also popped
by first cutting the kernels off the cob, throwing them into a fire, and
gathering them as they popped out of the fire. » In a final method for popping
corn, sand and unpopped kernels of corn were mixed together in a cooking
pot and heated until the corn popped to the surface of the sand in the pot. =
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Moreover, other evidence suggests that even if an ice-free corridor did
exist, it would have lacked the resources needed for human colonization.

It has long been accepted that the Americas were colonized by a migration of peoples from
Asia, slowly traveling across a land bridge called Beringia during the last lce Age. mThe first
water craft theory about the migration was that around | 1,000-12,000 years ago there was
an ice-free corridor stretching from eastern Beringia to the areas of North America south of
the great northern glaciers. It was the midcontinental corridor between two massive ice
sheets-the Laurentide to the west-that enabled the southward migration. mBut belief in this
ice-free corridor began to crumble when paleoecologist Glen MacDonald demonstrated that
some of the most important radiocarbon dates used to support the existence of an ice-free
corridor were incorrect. mHe persuasively argued that such an ice-free corridor did not
exist until much later; when the continental ice began its final retreat. =
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® According to paragraph 4, all of the following were social effects of the
new metal technology in Africa EXCEPT

XD e FHINEESREFR

® According to paragraph 2, which of the following were subjects of rock
paintings in the Sahara?

® According to paragraph |, theories of the origins of theater

® According to paragraph |, why did some societies develop and repeat
ceremonial actions?

® According to paragraph 6, all of the following statements are true of
plants in the alpine zone EXCEPT:
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® According to paragraph 4, which of the following is true about materials used
in the construction of buildings?

1|l

® Which of the following correctly characterizes the relationship between the
human body and architecture that is described in paragraph5?

® According to paragraph 3, ecologists once believed that which of the
following illustrated the most stable ecosystems!?

® Which of the following can be inferred from paragraph 5 about redwood
forests!?

® Why does the author mention Bushmen in South Africa in paragraph 2!
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® According to paragraph 4, all of the following were social effects of the
new metal technology in Africa EXCEPT

B AU X 4

® According to paragraph 2, which of the following were subjects of rock
paintings in the Sahara?

® According to paragraph |, theories of the origins of theater

® According to paragraph |, why did some societies develop and repeat
ceremonial actions?

® According to paragraph 6, all of the following statements are true of
plants in the alpine zone EXCEPT:



) ITh
® According to paragraph 4, which of the following is true about materials used
in the construction of buildings?

B AU X 4

® Which of the following correctly characterizes the relationship between the
human body and architecture that is described in paragraph5?

® According to paragraph 3, ecologists once believed that which of the
following illustrated the most stable ecosystems!?

® Which of the following can be inferred from paragraph 5 about redwood
forests!?

® Why does the author mention Bushmen in South Africa in paragraph 2!
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® Light is essential to photosynthesis
® Christian Dior was the most outstanding dress designer of the last century
® |n many areas, Nixon’s record did look bad.

® |n 1996, men earned an average $32,144 annually, while women earned
$23,710 for the same amount of hours worked, according to a report
published by the National Committee on Pay Equity.

® A quart is two pints, or 4 cups, or 32 ounces. The term is derived from an Old
English word for fourth. It is a fourth of a gallon.
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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Most Americans get their political information from television and most say they
believe information obtained from television more than that in newspapers.

Michael G. Roskin et al., Political Science
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A.Tom is as tall as Jerry
B.Tom is taller than most boys in my class
C.Jerry is taller than Ms. Gao

D.Tom is the tallest in my class
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® These questions ask you to identify factual information that is
explicitly stated in the passage.
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® They ask you to identify specific information that is typically
mentioned only in part of the passage.
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As wealth increased, such societies began to develop armies and to
build walled cities.

{51 R

Q: According to the paragraph, what happens as societies become more
prosperous?

A.More goods are produced
B. Walled cities are built
C.Laws are instituted

D. The size of families increased
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In the same year, the federal government created the Yukon Territory,

administered by an appointed commissioner, in an effort to ward off the
prospect of annexation to Alaska.

Q: According to the paragraph, why was the Yukon Territory created?

A. To encourage people to settle the region
B. To prevent Alaska from acquiring it
C. To establish law and order in the area

D. To legalize the mining claims
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® You can recognize negative fact items because either the word “NOT”
or “EXCEPT” appears in the question in capital letters.

® According to the passage, which of the following is NOT true of X!

® The author’s description of X mentions all of the following EXCEPT
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All of the following are mentioned as consequences of the new
system for workers EXCEPT a loss of

The first generation to experience these changes did not adopt the new attitudes
easily. The factory clock became the symbol of the new work rules. One mill
worker who finally quit complained revealingly about “obedience to the ding-dong
of the bell—just as though we are so many living machines.” With the loss of
personal freedom also came the loss of standing in the community. Unlike artisan
workshops in which apprentices worked closely with the masters supervising
them, factories sharply separated workers from management. Few workers rose

through the ranks to supervisory positions, and even fewer could achieve the
artisan’s dream of setting up one’s own business. Even well-paid workers sensed
their decline in status.
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® These questions measure your ability to comprehend an
argument or an idea that is strongly implied but not explicitly
stated in the text.
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What is particularly meaningful to anthropologists is the realization that although
the materials available to a society may to some extent limit or influence what it
can do artistically, the materials by no means determine what is done. Why do the

artist in Japanese society rake sand into patterns; and the artist in Roman society
melt sand to form glass!?

It can be inferred that the author mentions the Japanese and Roman societies because

A.They influenced each other
B. Of their stable social conditions
C. Of the unique stylistic features of their art

D.They used the same artistic material in very different ways
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® Factual Information Questions
® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® |n factual information questions you are asked what information an
author has presented. In Rhetorical Purpose questions you are asked
why the author has presented a particular piece of information in
particular place or manner.

(EFEISEN]I

® Sometimes you will be asked to identify how one paragraph relates to
another.
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The author describes “i&_ RIS &40
EREBEES” in order to

A. Indicate the beauty of Mona Lisa

B. Express da Vinci is the only one who
adopted this painting method

C. Explain the magic effect of certain
skill

D. Give examples of paintings employing
the method

I

{51 =R

Lzl
L

5

Why does the author mention “fi

B, ®BHR—NEREEHRILLERF?

A. Provide further information about Mona
Lisa

B. lllustrate how attractive Mona Lisa is
C. Indicate daVinci’s unprecedented insight

D. Give examples of Mona Lisa’s features to
which the method is applied.
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|. The author includes the quotation from a mill worker in order to

The first generation to experience these changes did not adopt the new
attitudes easily. The factory clock became the symbol of the new work
rules. One mill worker who finally quit complained revealingly about
“obedience to the ding-dong of the bell—just as though we are so many

living machines.” With the loss of personal freedom also came the loss of
standing in the community.
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2. Why does the author include the phrase as high as 50 births annually per
thousand people in the early nineteenth century in paragraph 1?

By the end of the 1920s, American society had undergone a long and historic
demographic change. Since the 1870s, the country had been moving from a more
rural mode that was based on high birthrates—as high as 50 births annually per
thousand people in the early nineteenth century—to a more metropolitan mode.
Prior to the 1870s, the population of the country was increasing by about a third
every decade; however, by the end of the 1920s, a radical about-face had taken

place.
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® Negative Factual Information Questions
® |nference Questions

® Rhetorical Purpose Questions
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® Reading to Learn Question

Prose Summary

Fill in a Table



Chapter Six
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® Reading to Learn Question

Prose Summary

Fill in a Table
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® The Basic Information questions focus on your ability to understand or locate

specific points in passage at the sentence level. The Reading to Learn questions will
also involve

ZEHe /] imin

® recognizing the organization and purpose of the passage
® organizing the information in the passage into a mental framework
® distinguishing major from minor ideas and essential from nonessential information

® understanding rhetorical functions such as cause-effect relationships, compare-
contrast relationships, arguments, and the like

(Official Guide, p.31~32)
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An introductory sentence for a brief summary of the passage is provided below. Complete
the summary by selecting the THREE answer choices that express the most important ideas
in the passage. Some sentences do not belong in the summary because they express ideas that
are not presented in the passage or are minor ideas in the passage. This question is worth
2 points.

This passage discusses fundamental differences between applied-art objects and fine-art
objects.




Directions: Complete the table below to summarize information about the two types of art dis-
cussed in the passage. Match the appropriate statements to the types of art with which they are
associated. This question is worth 3 points.
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(DThe deserts, which already occupy approximately a fourth of the Earth's land

surface, have in recent decades been increasing at an alarming pace. The expansion
of desert like conditions into areas where they did not previously exist is called
desertification. It has been estimated that an additional one-fourth of the Earth's
land surface is threatened by this process.

(@QDesertification is accomplished primarily through the loss of stabilizing natural
vegetation and the subsequent accelerated erosion of the soil by wind and water.
(BEven in the areas that retain a soil cover, the reduction of vegetation typically
results in the loss of the soil's ability to absorb substantial quantities of water.

@ln some regions, the increase in desert areas is occurring largely as the result of a
trend toward drier climatic conditions.
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BThere is little doubt, however, that desertification in most areas results primarily from

human activities rather than natural processes.

(®Four specific activities have been identified as major contributors to the desertification
processes: overcultivation, overgrazing, firewood gathering, and overirrigation.

(DThe raising of livestock is a major economic activity in semiarid lands, where grasses
are generally the dominant type of natural vegetation.

(®Firewood is the chief fuel used for cooking and heating in many countries.

@The final major human cause of desertification is soil salinization resulting from
overirrigation.
A0The extreme seriousness of desertification results from the vast areas of land and the

tremendous numbers of people affected, as well as from the great difficulty of reversing
or even slowing the process.
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The levels of education, the acquisition of wealth, and occupational prestige determine social
status in the United States.

Answer Choices

A. People who have made their money more
recently tend not to be accepted by those who
have inherited their wealth from family holdings

B. The lower class includes working people with
low incomes and a new underclass of people who
are dependent on welfare or engage in crime

C. The upper class tends to acquire wealth
through inheritance, whereas the upper middle
class has a high income that they earn in their
professions

D. Although the lifestyle of the upper middle class
is the goal for the majority, it is difficult for many
people to maintain this standard of living

E. Most people identify themselves as middle class,
including blue-collar workers and service workers
as well as bureaucratic employees

F. It is still possible to move from one social class
to another in the United States by working your
way up the ladder in a corporate environment



Because weather is a chaotic system, it is very difficult to predict.

Answer Choices

A. The accuracy of weather prediction
will improve as we make progress in the
application of computers to equations

B. It is very easy to make predictions
about the location of a car when you
know where it is and how fast it is going

C. A slight variation in initial conditions
will cause a very different prediction for
weather over the long term

D. Because weather is chaotic but not
random, it may be described by nonlinear
equations that provide for sensitive
Interactions

E. The economic system demonstrates
chaotic behavior, and it must be
represented by a nonlinear equation

F. Weather is predictable only within a
time frame of a few weeks because of
the nature of scientific prediction
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The End





